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AND-OR OR-XOR
lexg1 —— lexgl
lexg2 — lexg2
lexq lexq
lexg3 — lexg3
lexgd — lexg4
MODE[2 :0] = 000 MODE[2:0] =001
4-input AND S-R Latch
lexg1 lexgl
S QF— lexqg
Ioxg2 lexg2
lexq
lexg3 loxg3
R
lcxg4 lexg4
MODE[2:0]= 010 MODE[2:0] =011
1-Input D Flip-Flop with S and R 2-Input D Flip-Flop with R
lexg4 —
S lexg4
lcxg2 — D Q— lIcxq D Q— lexq
lexg2
lexg1 — R lexg! — R
lexg3 — lexg3 —

MODE [2 :0] = 100

MODE[2:0] =101

JK Flip-Flop with R

lexg2 — J Q— lexq
lexg! —p
lexgd — K
R
lexg3 —

MODE [2:0] = 110

1-Input Transparent Latch with S and R

loxgd ———

lcxg2 — D Q— lexq

MODE[2:0] =111






